7.5 Solving Quadratic Equations by Factoring

Quadratic Equation

Zero-Factor Property

Solve the following quadratic equation.

1.
$$(x-5)(2x-7)=0$$

Procedure:

- 1.) Write the equation in $ax^2+bx+c=0$ form (<u>quadratic form</u>).
- 2.) Factor the left-hand side of the equation.
- 3.) Use the zero-factor property to set each factor = 0.
- 4.) Solve each resulting linear equation.

Solve.

2.
$$3x^2=6x$$

3.
$$x^2 - 8x + 16 = 0$$

4.
$$4x^2 - 4x = 24$$

5.
$$(x+5)^2 = 36$$

6.
$$2x^3 - 4x^2 - 6x = 0$$

7.
$$x^3 + 5x^2 + 6x = 0$$

8.
$$(x-1)(x^2 + 5x + 6)$$

$$9. -6 + 3x^2 = -7x$$

This document is 100% funded by the MoSTEMWINs \$19.7 million grant from the U.S. Department of Labor, Employment and Training Administration (TAACCCT). The product was created by the grantee and does not necessarily reflect the official position of the U.S. Department of Labor. The Department of Labor makes no guarantees, warranties or assurances of any kind, express or implied, with respect to such information, including any information on linked sites and including, but not limited to, accuracy of the information or its completeness, timeliness, usefulness, adequacy, continued availability, or ownership.